I-Sheet Number 10329 Rev. B

LUND

Installation Instructions Dodge Mud Flap
2003 Dodge Ram Dually.

MUD FLAP INSTALLATION

935D-03
EX-935D-03

1. Using 5/16” bolts, lock washers, and nuts attach the M-0672 or m-0673 angle bracket to
the m-0674 bracket (this will make a driver side and a passenger side application). Then
hold the brackets up to the pinchweld and against the wheel well and mark thru the hole
in the M-0672 or M-0673 and the hole in top of the M-0674. Remove the brackets, and
drill an 11/32” hole in each marked location.

2. Attach the M-0674 bracket to the mud flap (on the opposite side of the weights) using
5/16 bolts, flat washers, lock washers, and nuts (note: not all of the flat washers will be
used). Make sure that the side of the mud flap that has the weights riveted to it is facing
towards the rear of the vehicle.

3. Bolt the brackets thru the holes in the pinch weld and the wheel well lip with 5/16” bolts
and nuts.

FASTEN THE M-0672 OR M-0673 & M-0674 BRACKETS TOGETHER
WITH 5/16 BOLTS, LOCK WASHERS, AND NUTS.

M-0674 BRACKET

M-0672 BRACKET

DRIVER SIDE SHOWN

REAR OF TRUCK
EX & DIAMOND MUD FLAP BOM

PART # 935D-03 | EX-935D-03

M-0672 1 1

M-0673 1 1

M-0674 2 2

A-BOLT 1 1

MUD FLAP DIA 2

MUD FLAP S/S 2




DRIVER SIDE SHOWN

DRILL AND FASTEN HERE WITH A
5/16 BOLT AND NUT.

BRACKET MAY ALSO BE BOLTED
HERE FOR EXTRA STRENGTH.

PINCH WELD

M-0672 BRACKET

| ~+——THE FLAP MUST

EXTEND PAST THE
FENDER TO COVER
M-0674 BRACKET THE TIRES.
——DUALLY FENDER
—WHEEL WELL LIP
| |
MUD FLAP WEIGHTS — } i
| |
:\ |
, ;_:—:;;_=_=_=;;;;;;;;;;;;;;;;;;;;;;:
[ I
I
: o o o ||

***MAKE SURE THE THE MUD FLAP***
WEIGHTS ARE FACING THE REAR
OF THE VEHICLE.

LUIND

Lund International
800-241-7219 e Visit us at lundinternational.com

© 2012 Lund International, Inc. All rights reserved. 7
L ™ Lund® and the Lund®logo are trademarks of Lund International, Inc. LUNDL



